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6. @UE-37 T 100

[ 121{32?]

5 ¥ 7¥T gfedr ?i' @uel # &— 5. This question booklet is divided ing,

JUE-37 U Jyoa-5 two sections — Section-A gpg
Section-B.

frd @ Rt so weai @ I
¥ st & (vew % R

In Section-A, there are
100 objective type questions, out of
which any 50 questions are to b

R
f

\ answered ( each carrying 1 mark) 3

1 3 friRea 2)) garg @ ‘yﬁﬁ"— First 50 an{swers will be evaluateq (

¥ & I 37 W gyT 50 IR by the computer in case more thap y
24 5? Gl FEIET FRT famar 50 questions are answered. For

ST B 3O F TR FOF 7T answering these darken the circle

OMR FT-73% H R 73 get et
F Ad / w1 arr 97 T IR

with blue / black ball pen against
the correct option on OMR Answer
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T Rt W TwR F BT/ whitener / liquid / blade / nail

TeeT ugref /| wiT / G e etc. on OMR-sheet, otherwise the
T IT-YIRTST § 9T ®I=r v result will be treated invalid.

& ot wfenr aftvmy sy
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In Section-B, there are 30 short
answer type questions, out of
which any 15 questions are to be
answered (each carrying 2 mark.s}
Apart from these, there qre 8 Iong
answer type questions, out of
which any 4 questions are to be
answered (each carrying § marks).

. Use of any electronic appliances is
strictly prohibited.
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ﬂ [ 1217327 |

TUE - 3t ; gECTION - A
aqhTs v Objective Type Questifms
a7 W 18 100 7% & 0y 3 apy e e e 0 & forrst @ v @t &)
&#sowﬂf*ﬁ”’fam#gmg#qqaﬁﬁmaﬁomaﬁzw%@w
FTI 50 x 1 = 50

Question NoS- 1 to 100 have four opﬁons, out of which only one is correct.

Answer any 50 questions. You have to mark your selected option on the
OMRsheet _ . 50x1=50
1. W y=2x +33mx%x 0 ot YEn B yEa

@ 3 | ® -3

(C) (D) -3

1 |
3 .
- - 2 . s
The slope of the tangent to the curve y =2x +3sinx at x=01s

1

By 3 | B -3
© 3 O -3
2. Whga H BsAr r =6 cm W r % Ry F%d ¥ GRadd H I
(cm?/cm ®) & - |
(A) 10=x - B) 12=x
(C) 8= (D) 1l1=

The rate of change of the area of a circle with respect to its radius

r (incm? /cm) at r=6cm s

(A) 10= | (B) 12=
(C) 8n _ (D) 11=n
o 24/ A/ X11-5001-(34/40) Page 3 / 32
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D [ 121732,
3. R uemd Atk pEda @ @

A} P(ANB)=P(A)P(B)

(B) P(AUB)=P(A)+P(B)-P(ANB)

(C) P(AUB)=0 |

(D) P(ANB)=P(A)+P(B) |

If events A and B are independent then

(A) P(ANB)=P(A)P(B)

(B) P(AUB)=P(A)+P(B)-P(ANB)

(C) P(AUB)=0

(D) P(ANB)=P(A)+P(B)
4. 527 B A 6 o T ¥ T reE Preen H wiienar

@ 5 ® 15
© & o g

The probability of drawing a king from a pack of 52 cards is

R e 5
© 35 | © 5

5. P(A)=1.P(B)=1,P(anNB)=l= P(B/A)=

w 2 B 3

r .

© % o 2
24 /A /XII-5001-(34/40) | Pag;ﬁ
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B (1217327 |
6w o H 10 IR I0WN Jre 4, e : Fed 3 Y wifdma B
1)° 7
w " a(3) B '°C(3)

@ cu(3) o cy(3)

A coin is tossed 10 times. The probability of getting exactly six

heads is
(18 /1N
w TG (5) . B °Cs Jl'f] .
1)8 71310
© ‘°c (5) D) °c, \%]
-6 _5 _7 i}
7. Plﬂ}—llaP(B]—“,P(AUB]—11::>P(A[']B)
4 .5
B 11 B) 17
7 9
© 57 [
8.  xy-a¢1 1 HHIHT &
(&) x=0 B) y=0 .
(€ z=0 " o wIwdEd
The equation of the xy-plane is |
¥ x=0 . B y=0
| (C) =z=0 (D) none of these
9. . H Rgg-wread §
A) (1,0,1) B (0,0,1)
(C) (0,1,0) D) (0,0,0)
o 24 /A /XI1-5001-(3¢/40) Page 5 / 32
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10.

11.

12.

13.

. [121/327)
The direction cosines of z-axi8 &rc
A) (1,0,1) B (0,0,1)
(¢) (0,1,0) D) (0,0,0)
frgatt (4,3, 7)3 (1,-1,-5) SR FH 2
(A) 13 (B) 15
€ 12 D) 5.
The distance between the points (4,3,7)and (1,-1,-5) is
@A 13 (B) 15
© 12 o s

I(x+co&‘.2x)dx =
| 1. 1
(A) %xsin2x+;1fcos2x+c (B) —2-x31n2x—zc052x+c

2

oy
(C) 2xsin2x+4cos2x+c \[B)/ xz +sm2x+c
_[ex sin~ x +—— 2}dx=

1 (Bl e‘.sinx+c
A) e —+C (B)
( ] - x? -
(C) E.i.;_c - | (D) e*.cos x+c
_[ dx__ _ '
x(x+2)

i 1 X _|+c

@A) logl=5 1+ B) el i3l

: i 1 +2 |+¢
(C) log| x |+ ¢ (D) ogl| x |

== G cnni _aasaml Page 6 / 3
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J’Jﬁgwxg dx =

(121,327

14.
x .2 .2,
(A) Fva —X dx
2
(B) %—aiﬁ"’" +e
- . 2 ' .
© %J!a%-xa + %msin”1§+g'
- (D) 'g' x* -a® “%ﬁai,n“1§+¢
/2 o
15. [sin’xdx=
-n/2
@A -l By O
c 1 -(D)
16. ?T—%— dx=
o¥x+va-x
A) d B 5
(C) 2a D) 3a
C x/2 g
17. j‘ms.ﬂx dx =
: 0
* 0 B 1
S -1 D) 2
/6 .
18, fcaax, cos2x dx =
0 _
- (A) §/6 (B) 1/6 |
€ 5/12 (D) -5/12
| [24/A/X11-5001-34/40 Page 7 / 32
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{121./327}

19. Jtanxdx:
(VIS Bl. 0
€ 2 D) -2
11
20. -
!7;‘ dx
A 2 (B) =/6
(C) =/4 D) =/2
21. cos™ (—%] = (0, :{') A __7}&
2n .1
\9)/ 3 (B). 3
T . T
22. xe[-1, 1],coslx=
(A) Z-cot” x (B) Z-sin™'x
(C) %—t&n—lx _ : (D) %—sec“ x
23. xe[-1, 1],sin” (-x) =
JAY -sin"'x - (B) sin"'x
(C) ~—cos” x D) cos'x
24. cosec i X=....ccce. 3 x21 0Or S -1,
() sin” x By sin
(C) cos™ x - (D) .cos_ljlc-
24 /A /XI1I-5001-(34/40) Page 8 / *
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25.

26.

27.

28.

29.

30.

(1217327 |

tan| tan-l% + tan™! '%1 -
@® 1 8 o0
©c 2 D) 3
sin[r::::nt'l x)=
(A) 1+x2 .
' 2,-3/2 1
€ (1+x )_ o) L
f:ma'1 (cos —EE) =
- 5n
w g B F
| | | |
© % . D) €
—'*Sin-l(-—‘-é—)=
| on
@4 O B) X
0 I D) =
© 3
tan™' Y3 -sec” (~2) = |
. . | .
a -3 @ 3
(&) 2n (D) =
i : a=b: bé}i’mméﬁﬂfe%l
o ifore s wg=d N # R={(a,b):a=b-2,b>
Prfrfer & wft I R
(A) (6,8)eR B) (2,4)eR
(€) (S’SJER (D) (8,7)eR

Page 9 / 32
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[121/3
Let R be the relation in the 8¢t Ngiven by R=((q p).q=p-— 2b;.2;]¥ |
The correct answer in the following is
(A) (6, 8)eR B) (2 4)er
() (3,8)eR D)  (8,7)er
31. [—9x __
a? + x?
1 a B) -1x
(4) . —tan” x+c (B) tan e
U/ tan—1£+c (D) 'clitan“"xw
32. Isecxdx=
By log|secx+tanx|+c  (B) . log|secx-tanx|+c
(C) log secx +c uj] tan® x + ¢
33. Isecsx tahxdx='
. i
(A) Stan’x+c (B) -é—secsx+c
©)  Slogleosxi+e (D) tanSxec
34. ([tan®xdx=
A 3
( ) fanx+x+e (B tanx-x+c
C cot
© X¥x+e (D) cotx-x+c
35. cos2x dx =
Icosgx.ainzx
A cot x— |
& fanx+e (B) tanx-cotx+c
(C) -cotx-
“tanx+e (D) -~tanx+c

24/A/X11-8 5001-(34/40)

Pag¢10ﬁ

https://www.bsebstudy.com



[121/327 |

4
x tl gy -
36. J-x2+l
X : |
(A) F *¢ (B) %—x+2tan" x+c
(C) 2tan”' x +c (D) -"—'é'—+.:c-l—i?!tr:m"I X+
1-COS2X 4. _
37. .[1+cosi2x x
(A) tanx+c (B) tanx+x+c
&y tanx-—x+c (D) -—tanx+x+c
dx _
38. J3-3x
(&) -3log|2-3x|+c (B) P-'%-Iog|2—3x|+c
(C) ~-—log|2-3x|+c (D) 2tan'x* + ¢
5 :
x“dx
39. =
Il+x8
-1 _4
(A) tan_le+c (B) 4tan  x +c
cr Lontx%+e D) 2tantx*+c
4
40, J'xexdx:
(A) e“+c (B) x-l+c
C) e*(x-1)+c (D e (x+1)+c
a[2 -3 -1 o .
4. “&A-[tr 6}?ﬁA .
1 1 11
a R 4 8
@ |13 B 11
5 12 ' 6 12
| 4 8
© [g 12 P [-6 12]

24 /A /XII-5001-{34/40)
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1
(B) 4
3
(D) [—g 1

[ 121]32?

42. R A 3tk 3=[g g] N 6A-5B=
@) ® ['7 %4
Cor [D4 (D) —ég ~54
If A=-[_ | ] and B= [; 2] then6 A—5 B =
w7 & ® ['7 w4
© |Zs8 Z& O |55 54
43. aR A ]?h A =
w4 - [8
0 2/5 _ <
© | 573 D) [3 2 2/5
24/A/XI1-5001-ae40 Page 12/ 1
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[121/327 |

2 V2 0
if A=| ; _o 2 |then A’
5
( .0 2/5] ® [J; 215}
3 2 |
-2 J2 3 -2 2/5]
© 275 o] () [2 2 o
44, AR ?A+B+X*0,_Tﬂﬁ Aa[‘é g] afR 3:[% "‘"g} @A X-=
1 27 | 1 27 ‘
@ |-7 -13] ® |7 13}
-1 =2] | -1 =2
©) -7 -13] (D] 7 13}
If 2A+B+X =0, where Az[”sl ﬂ and B:[si “g] then X=
| (1 2 1 2 ’
@ -7 -13] B |7 13.]
~ -1 -2] o [-1 =2
g T @ |7 13]
45. [x y]=[2x-1 9]=
A x=3,y=9 B) x=1,y=9
(C) x=0,y=9 D x=3,y=4
46. -d%(sinﬁx)#
(&) 2sinx By sin2x
(C) cos2x (D) 2cosx
d _
4. a*;(xs +cos2x )=
(A} 5x*+sin 2ﬂx‘ B) 5x*+ cos2x
Jor sx*-2sin2x (D) x°+ 2sin2x
——— '
24 /A/XI11-5001-34/40) Page 13 / 32
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d
48. -a;(sec"x}=
1
(A) . 1 By ——
1= x2 x¥x? -1
© 1 D) -
1+x? . x¥x? -1
49. dgxy-
axla)= _
By a*loga (B) a*logx
(C) a* | (D) loga
50. —;—xlog(cosx} =
(A) tan x By -tanx
(C) cotx (D) —-cotx
~ 51. A9%ha T xy &y + x| QY 2—y£‘£=oaﬁ’rﬁ%3ﬂim§
_ dx? dx dx .
(A) e =2 °w@=1 - B wR=29d=2
(C) =ife=1,"m@=2 (D) ®fE =1,9@ =1
The order and degree of the differential equation:
. dgy ' dy 2 dy ‘
xy[-c-i;c?] + x[a;) "'y'a;- =0 is
W order = 2, degree = 1_ (B) order = 2, degree = 2
(C) order=1,degree=2 (D) order = 1, degree = 1
d :
52. maaaarﬁmw 2 +2y=sinx HT GAH I B
a) e | B) &
_—l-"".-:
24/A/XI1-5001-(34/40) Page 14 /
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[121/327 |

: . d : ,
The integrating factor of the differential equation Eg +2y=s8inx i8

@ e @
' Jz} e [D) et*
| dy _ x4y
o3, AT EHIHT —L=e Y 57 g
'(M e"+e¥=c B) e“+e’=c
(C) e-I ;I-E'y = c’ [D] e__x +e__y =c
| ) |
The solution of the differential equation E?E:ex *Y s
) e*+ef=c B) e +e¥=c
© e +e’=c (D) e +e¥=c

dy_y.
54. aaarcfaﬂw.dx_x H A8

(A) y=1'oglxl+c (B) y=cx

(C) y=xlog|x|+cx (D) y=log|x|+cx
The solution of differential equation j—z=% is

(A) y=log|x|+ec B y=ex

(C)  y=xlog|x|+cx | (D) y=log|x|+ex

55. Jfqel GHIHWT %+2y=63x'3ﬂ' FUTHE O &

3x (B) 82-1‘

(D) e**

(A) e

C) € |
; : . d 3x .

The integrating factor of the differential equation E¥+2y=e *is

A) e {B) ¥
) e D) e
T 24 /A/X11-5001-(34/40) Page 15 / 32
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m LR L A A e [ 121/32?
— 4
56. (41 +37 +3k) . (61-4j +k)=
A) 22 15
(C) 21 (D) 18
— —
57. (i +3] -2K)x (- i+3k)=
- -
AL97 -7 +3% B) 9i+j-3
%
© -7 +3k D) i+j-3k
58. | i-J -k |=
8y V3 B) 3
C) V2 (D) 2
—
,59. J.j:
W o B
c -1 D) &
- -
60. kxj =
-3 -
A) - B) J
€ o D) K
61. Zx(3+2)+3x(3+3)+2x[;+3)=
(A) 1 B 0
c - -1 (D) 3
<> = -
62. i.(jxk)=
(" B) ©
© -1 1
B
24/A/XII-5001 -(34/40) Page 16 /°
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2
1

(A) /e

+2k

_.*
direction of a is
v S
1+ J +k

(A) N3

- —

z+_;+2k
6

©

: ' l—) - —-) '
64. AW 3i+j -2k M T41] -3K wEw T A2

@ -3
(&) _—9

+] +2¥?ﬁ3ﬁﬁmﬁmmmat

i+j+2k
B ==
% I
i+j+
P

> o
®) :+_j/£-2k
2. E’
oy AELEZ

(B) -6
D) -1

[121/3271

A
» then the corresponding unit vector a in the

If 3 i +_} 2k and :+l; Sk are perpendmular to each other

then the value of A = -

a4 -3
9 -9

65. I cot? xdx =

(A) cotx+x +k
(C) -cotx-x+k

- - -
66. ufewit 27 -3 +2k M 1+4j+5k o w wm

B) -6
D)y -1
(B) -cotx+x+k

(D) cotx-x+k

(A) 30° ~(B) 90°
€) a5° (D) -60°
T ——

3

24 /A /XII-5001-(34/40)
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67.

[121/3,
i B >

The angle between the vectors 21 =3 j+2k and i +4 j+sj ;o
()  30° By 90° |
(C) 45° | D) 60°
la+3|=|a’_3|=>
. L. S
(A) la|=|b]| Bf allb

- - —
€ alb D) Ja|=0

' - - - .
68. Hfewm 4?—4}"’ +7k R ERa 1-2j +k 1 989 2

(A) ©° (B) 19/9
(C) 9/19 - (D) 19

€ projection of the vector i -2 j +k on the vector 4 i ~4 J +7i

is https://www.bsebstudy.com

(A) o (B) 19/9
(C) 9/19 . (D) 19

69.  Z=3x+Sy % Fw™ AH Jel 6 =W x +y <2, x20,y>0 2
(A) 16 (B) 15
€ o | (D) ¥ & = 4
'I:he minimum value of Z= 3x+5y subject to the constraints
where x +y <2, x20, Y20 is
(A) 16 (B) 15

' € o (D) none of these

70. Z=3x+2ywH mmmwrg'f% =EUY 3x+y<15, x20, y20 ¥
(A) 30 B) 15 ’
€ 10 (D) i & = Aft

24/A/XI11-500 1-(34/40) Page 18 7
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71.

72.

73.

[ 121/327 )
The maximum value of Z = 3x + 2y subject to the constraints where
3x+Yy<15, x20, y>0 is
(A) 30 (B) 15
() 10 (D) none of these
A we [W@3f % R&F a1, m, n 34, my, n, F1 @ TH-ER R o

gt af

l m _n 1 m n _
A] —_— T — T —— B' -_— —_—t—=0
( 11 m, n ( il m, n
(C) 12+rr12+1r12:112 +m]2+;_112 (D) II]+mm1 +nn1=0

The direction ratios of two istraight lines are I, m, nand [, m, nn,.

The lines will be perpendicular to each other if

I m _ n _
(A) -II:=E-=£ - B) 1+ t7 =0

mon L S
(C) Ig+m2+1|'12=l12 +r;112'-|—:r1,12 {9/ I, +mm; +nn =0

et o Y@ ¥ R ogum 1, 3, 5 & @ W H Reg-wead ®

111 1 3 _5_
@ 35375 Y A

5 .38 _1_ D) ¥ 9 HIg &
© 35 7 T ®)

The direction ratios of a straight line are 1, 3, 5. Then its direction

cosines are
1 1 1

1 3 5
B\ ——, o, o=
W 333 B s e s

(D) none of these

(©) 5 3 _L
J35 J35° V35

T Bx—Sy+dz=11 % FAAL T FT THHOT 3
(A) 3x-5y+4z=21 (B) 3x+5y+4z=25
(C) 3x+5y+4z=35 (D) 'ﬂﬁﬂﬂﬁfqﬁ
24 /A/XI1-5001-34/40) Page 19 / 32
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74.

75.

76.

[ 121/327
The equation of the plane parallel to the plane 3x~-Sy+4z=11 i,

(C) 3x+5y+4z=35 (D) none of these
det 2x + y-22z=5 IR 3x-6y-22=7 ¥ ot &1 Hor }
f n '
(A) -g- B 7
(C) cos”(4/21) (D) cos‘1(16/'61)
The angle between two planes 2xr+ y-2z=5 and 3x-6y-2z=7j
® .
(A) - % | | (B)_ vy |
() cos}(4/21) (Df cos"}(16/61)

frg (2,1,-1) Fad x—2y+42=9 N 2

@ B @ 121
© 2 (D) w ¥ B A

The distance of the plane x-2y+4z=9 from the pok
(2,1,-1)is

13 13421
A 57 ® 1
(C) % (D) none of these

R QA 7 2x -4y +32=5 AR x+2y+rz=12 TER T B @ A =

(a) -2 B) 2

© 3 (D) T A wE

If two planes 2x-4y+3z=5 and x+2y+Az=12 are mutud™

perpendicular to each other then A =

A) -2 B) 2
(C) 3 (D) none of these -~
24 /A /XI1-500 1 -(34/40) Page 20 / :
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m (1217327 |
x-3_Yy-4 : )
a b o T

77, T ~=, X B-Z % maaa A
5 3 2
(A) Sa+3b+2c=0Q a_b_c
B 57372
(C) Sa=3b=2¢ (D) ﬂﬂﬂﬂf}iq‘gf
i z
If the line = a ,H'_b_ £—= ig paralicl to the line % %:-2-, then
A Sa+ 3b + 2C-0 ,9_:_!?_-_-5_
U B) 2=3-3
(€) Sa=3b=2c (D) none of these
xX-Xx - - :
78, WX 1@ a L= yby‘ =zczl , @ a,x+by+c,z+d=0 ¥ HURH
1 1 1
aa
a b c
(A) -&i-=-5;-=z_i- (B} a,x +by+cz=0

C) aa, +bb,+cc,=0 (D) ¥ AP T

x—xl= 3,.!-_1,‘&:;’;-{L
b. ¢

If the line is parallel to the plane

1

a,x+byy+c,z+d=0, then

b ¢
Jﬁl/&.:#:E: (B) ax+by+c,z=0

(C) aa,+bb,+c,c,=0 (D) none of these

79. ap|* 2|8 P& x wmw
18 x 18 6
A 6 By 6
€ -6 | (D) O
24 /A/XI1-5001-(34/40) Page 21 / 32
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| 2 = 6 2 then x is equal to
18 x 18 6
A) 6 | . (B) =6
| ©) -6 D) o
80. -J-Jl—sian dx =
(A) sinx+cosx+c (B) sinx-—cosx+c
(C) cos x—sinx+c (D) tanx~cotx+c
81, x  x+1 _ -
x—-1 X
(A) 1 o B) O
< 2 > -1 |
82. 'ﬂ'ﬁ:{ * Gisrar a * b=_2a+b ﬂ'qﬁ‘ﬂﬁﬁﬁﬁf (2*3) = 4%
(a) 30 . ® 20
() 18 D) 15
If the operation * is defined as a*b=2a+ b, then (2 * 3 | » 4
@) 30 (B) 20
©"18 D) 15
1 1 -2
83. 2 1 -3|=
15 4 -9
& 2 B 1
C 0
M D) -1
3 -4 5
84. 1 1 -2} =
2 3 1
W0 B) 46
(C) - 46
D) 1
24 /A /% ]
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ﬂ [ 121/327 |
5 6
85. 5[7 8]=
| (25 307 -
A) 25 30
a 35 8 BL- |35 40
5 6 ) i
C 25 30
9 lss 40, @) |25 a0
86, f:A—-B mmﬁ‘ﬂﬂﬁ
W flacs B flA)=B
(©F flA)>B (D) W & +§ &
f: A— B will be an onto function, if |
A~ flA)cB '(B) f(A)=B
© . f (A}:-"B_ ‘ (D) None of these
87. _A=[a§]mxn Eaﬁmt‘lﬁ
{A) m.='n [B] m<n
© m>n (D) ¥ & B 7
A-=[4:¢!.iF ).xn 1S @ square matrix if
\(/A\/‘ m=n B) m<n
©) m>n (D) none of these
- _3 .
88. [ 5] [1 6 -4] =
5 .
. [-3 -18 12] -3 -18 12]
-20 (B) 2 12. -8
w [FR-8 e 378
- _201 . 3 18 12
(C) _3 _?3 12 (D) [5 30 20]
2 12 -8 2 12 8
~ 24 /A/XI1-5001-34/40)
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Ui @[5 1]
@ [§8 ® o
90. AR A= [_31 “g] 2 adjoint A - .
w. 25 ® 73]
@ 19 ® 23

If A= [_?l - g:' then adjoint A =

@ (3 3] ® (%2

© [ 3] o [2 1]
91. f;lqg(secx+tanx] =

(A) sec +1tan x \@J’ sec x

(€) tanx (D)  secx+tanx
92. %( sec™ x + coseclx) =

a) 1. By o

€ 2 D) -1
' —ean-1f1=cos x d
93. AR y=tan [__SETJ L E% =a=_

(a1 B) -1

1
© 3 O -2

[ 1213y,

24/A/XI1-5001-(34/40)
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0

If =tan“l(1‘"‘308x
B __5?1"1-;") then 4y _

dx
@A) 1
) (B) -1
< 3 |
2 1
B -3
94, ' 'ﬂﬁ'x= asece,y=b-mnemﬂ=
dx
b .
A —-
(A) asece (B) %cosece'
' b
@ geote o 2
. - a
| TJH:"_’ a sec 6, y=' b tan 0 then dy _
b : .
(A)  Zsece B %cusecﬁ
©  2coto D L3
-_95- 'qﬁ y=1] sihx+;; sinx+1f Sinx+... co dh ?ﬁ'%—z—=
A) - sinx B cos x s
@) 2y -1 - | () y-1
Ccl  cosx | D) 1
© 2y -1 ) 2y-1

' - Menxsds d
If y=Jsinx+ sinx+ﬁmx-i—_...tom then E%=

@) sinx . (B Sosx
@ 2y —1 ' y-1

' 1
(c) gosx B 553

_2y-1

[121/327 ]
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m [ 1213,
2
96. TR y=x0 i .EL%.:
dx
(A) x!8 (B) 20x'?
19
(C) 380x'® D) x
2
If y=x20 then .g_g-=
dx _ .
(A)  x'8 (B) 20x'°
(C) 380x'® D):  x"
97. IJ 1+cos2x dx =
(A) 2 cosx+c (B) 2 sinx+ec
© 24c (D) V2sinX+c
x“ - 2
o8, [loBX., .
X
(A)  Sllogx)+c (B) -L(logxP+e
2 - 2
© Z+e O -Zsc
COSy X
99. dx =
=
(A)  2sinVx +c B) sinx +c
(C) cosdx+c (D) 2cosVx +¢
100. IJcosx . 8inxdx= .
(A) %(cosx,ﬁim +c (B) . -—-g-(coax]‘?"m te
€  (cosx]’/ +e (D) l' ~(cosx)*/? + ¢
24/A/XI11-5001-ta4/40 Page 26
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\ @Y - ¥ / SECTION - B
. ™ Y¥ / Short Answer Type Questions
v et 18 30 T g IeYr &) g @ Frat 15 wvAt & Iww &1 9w T

F m_z HE ﬁm’fﬁ? é"' https://www.bsebstudy.com 15 x2 =30

Question Nf)s. 1 to. 30 are Short Answer Type. Answer any 15 questions.

Each question carries 2 marks. 15x2 =30

1. e y=sin( a dy

P Yy (xyl i et | 2
If y=sin(xy) then find _3_31,

- -~ dx

2, FAHE B : [(x+2)? dx. 2
Integrate : j[x+2]2 dx.

3. P(AUB) ¥@ fifmaf 2p(4)=P(B)=> 3R P(a/B)=Z. 2
Evaluate P(AUB) if 2P(A)=P(B)=7} and P(A/B)=2,

4, fg=if® 4(cot”' 3+cot™2)=n. | 2
Prove that 4(cot ! 3+cot™ 2) =x.

5. gl fe taﬁ‘lx+tan"ly:tan_lfc—‘--'.%. ' .2
Prove that tan™ x+tan™’ Yy =tan™ _1x_+y_

_ /_- 7 & Y = |

_t’j( e y=y sinx Eﬁdxm , 2
Find g—g- if y:# sinx2 ) |

7, fog 3R gor T R AR £ (x)=8x° W g(x) =x'/° 2
Find fog and gof if f(x)=8x"and g(x)=x'/?.
‘ s

8. “ﬁ!ﬁs?+3}’+4gaﬂT 6i—8 ] —k % €9 %1 ®iv 71d *H 2

-3

i ? .22 - -
Find the angle between the vectors 5i1+3 j +4k and 6i-8 j - k.

24 /A/X11-5001-(34/40) Page 27 / 32
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»10.

11.

12.

13.

14.

Maximize Z=20x+3y, subject to 3x+2y<210, x20,

.24y _
TA® : x dx—&.’_xy.

d
olve: X dx Q;y

1 1 1 .
af® |a b | WEETER

1 1 1
Evaluate. the determinant{a b c¢|.
3 53 3

a Cc

2 -2
1 -2 -

Ry A=[—1 3 _1],?hf%|zﬁﬁ= A2=A.

2 -2 -4 5
If A={-1 3 4|, show that A"=A.
1 ~2 -

ﬂﬁ’xcosy=sin(x+y) )| %—% et

If xcosy=sin(x+y), ﬁpd %

tan™ —2% # sin” —2X_ % WNW TEE W

l1-x 1+x

1 2x

l-x

'ﬂﬁ x=J1+t2 , y=J1-t2 W % ﬁ‘ﬂﬁl

2 dy-
If Jl::=-J1-i-t2 , y=J1—t then find Exa

- . 4 _
Differentiate tan = with respect to sin 2x

[ 121f32?h

9 wftremfie wt Z=20x+3y, 4% 3x+2y<210, x20, yz0. 2

y20.

24 /A/X11-5001-(34/40)
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@ [ 1217327 |
16. = ¥Sinx dy
% y=x""a =4 e 2
If y =xsin,\:, find E-!_"_
x/2 - dx
17 dx
* L]
g e ¥ ™ Pty 2
_ A/2
Find the value of I dx i
: o l+vtanx _
a
18 [Ja?—x% dax %1 ety 2
0
. a
Find the value of _Haz ~x? dx.
' : ]

19. aaﬁ X=2y+22=6 I 3x-6y+6z=2 % @7 A g 7 X 2
Find the distance between the planes x-2y+2z=6 and
3x-6y+6z=2. https://www.bsebstudy.com .

20. 3@ 99 1 THEU 3@ W REd x, y o z @ W siaEve -
2,33 -4% 2
Find the equaﬁop of the plane whose intercepts on the axes of
% Y, z are respectively 2, 3 and - 4. https://www.bsebstudy.com

21. p¥ AF W@ W ad End "-'51:!";2:“17 st X+4_y+9_z-1
| p 2 2 2
TR & E 2
Find the value of p so that the lines X-1_Y—-2_2z+17 d

. 2 3 p
+4 9 —
x2 =y; =32 laj:'cmutuall}' perpendicular.

22.  [cos®x.sinxdx F THHH BRI 2

Integrate Imsa x.sinxdx.
. 4 _

23. Ixz‘ldxmaﬂlﬁ?ﬁf - 92

x“+4

2

x“-1
Integrate Ix2+4 dx.

24 /A/X11-5001 (34720, Page 207 33
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25.

29.

30.

[ 121/327 l
Tt Yoy, 2
Solve ; cdi—yﬁe
frr wiftresan e ¥ Rorg wrer 7@ W 2
X, 0 1 2 3
I ey
p 1/8 | 3/8 3/8 1/8
! ——
Find the mean for the following probability distribution : —
X; 0 1 2 3
j . 1/8 3/8 3/8 1/8

e —
q&§=?—?+zﬂmb-21+_} +3K @ | @ + b [ AH T H|

2
- e A | T =3 - - -
If a=i<j+k and b= 2i+j +3k then find the value of
- 9. '
| a + b | . -
- A o
gfewr 3i-4j +12k & Rp-wHsamd Fer 2

: -
Find the direction cosines of the vector 3i -4 j +12 E’ .

A2 |
Ixcosxdx Ea R CRECa )
! .

2
Af2
Find the value of. Ixcos-xdx.
3
Isins xdxﬂmﬁl 9

Integrate J'ain3 xdx. ‘
f dx T THHTH $X) )
Jx+1+?x+2 :
' dx
Integrate .
g IJx+1+Jx+2

&\

249/A/ XI1-5001 -(34/40
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: AL Long A:_uwer- Type Questions
mwalﬁ33ﬁd3ﬂﬁﬂmilmﬁ#%4mﬁ&:m?tm%
e 5 o Fraife ¢

(121/327 ]

. | 4x5=20
4Questmrt Nos. 31 to 38 are Long Answer Type questions. Answer any
questions. Each question carries 5 marks.

4x5=20
3). g+ sin!'d . qin1 5 116 _T
o 5 TSR {ztsin g5=5- =
Prove that sin™' % +gin 1S L an-116_T
g *sin T3 tsin z==5-
n/2
32. AT T/ &L - Ilogc‘osx dx.
’ 0

r/2
_Evaluate : Ilog cosx dx.
. o

33- F‘ﬁﬁ . [].“".'-l:z]‘3"%4’?":'(311_]xl

dy _ ' -
Solve : (1+x2)S¥ 4 y=tan!
olve : (1+x ldx+y tan™ x.

d : .
34« Ez- fF&ret, 919 (siny)* =(cos xV.

. Find %yc-’ when (siny)* =(cos x)¥.

l+a 1 1
35, O FARAFEA S| 1 1+b 1

. . _ 5
\ 11 l+c . .

l+a 1 1

Evaluate the determinant | 1 1+b 1
1 1 l4c|

-.3/6( LIl o T [?—3}? +4g].[(2?~_})x[?+2)].

5 - o B T G
Evaluate : (?-3]’ +4k]'[(21“.1]><(j+k)].

24 /A XI1-5001-(34/40)
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37. EadiE w Z=2x+y |
vafe 5x+10y <{0 , x+y21, y<4,x20,y=20. - | S
Minimize Z=2x+yYy, | |
subject to 5x+10y <50 , x+y21,y<4 ,-xz'O, yz 0.

| 38. ﬂuﬁﬁwm%ﬁﬂmﬁ@am@ﬁ 376 ®F A AN Ty

R | R

In four throﬁv;, with a pair of dice what 'is the probability of

occurrence of doublets twice at Iéaﬁt ?
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